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Choose the correct answer : (10 x 2 = 20 37 Marks)
1. w9 2012 ¥ Sieifres i e g ?
Where will the 2012 Olympic Games be held ?
(a) =garw/New York (b) we/London
(c) Hft@/Paris (d) = | =15 7E1/None of these
2. <iren WY N 7a few T ?
Who finally finished the Chola Dynasty ?
(a) = TeFEl/Md. Gaznavi (b) = TH/Md. Gauri
(c) wfer FrpuMalik Kafur (d) 3 & = 7ET/None of these

e M # sreEdn e e o g fe ?

Non Co-operation Movement was launched by Mahatma Gandhi in which year ?
(a) 1920 (b) 1919
(c) 1922 (d) T & =g 7ET/None of these

. SRR 1 TS Fn R 2

Which is the capital of Australia ?

(a) fasR/Sydney (b) *au/Canbera
(c) wemfTan/Tasmania (d) 3 & = 7EW/None of these

T e wfeam Tl feam ® 2
Where is Green Park Stadium located ?

(a) FAgYKanpur (b) ==/Chennai
(c) smeivBangalore (d) ¥ & = 7ET/None of these
. B 2007 1 A wiifa qeeen R femn w2
The Nobel Peace Prize for 2007 has been awarded to :
(a) were we/Albert Fert (b) et iR wa . R.H /Al Gore & IPCC
(c) €. afdD. Lessing (d) ¥ & =g 7ET/None of these

e A Q- e gad weE fafte ® e T ?

Which of the following creatures was the first to travel in space ?

(a) gevMouse (b) FwDog
(c) feett/Cat (d) 37 & =rg TE1/None of these

. T, 2008 # 3471 G-8 HEEH 1 5% F 8 /

In the year 2008 where was the 34th G-8 Summit held ?

(a) = #ifESouth Korea (b) =/China
(c) SmI/Japan (d) FerRfimvindonesia

. A 3 G A T AL A R ?

The Unmanned Aerial Vehicle (UAV) developed by India is called :

(a) sgM/Udaan (b) frama/Nishant
(c) F/Maitri (d) T @ #$ 7E/None of these



10. waeR ot # gamgaarn fHas s=m ?
Who among the following built the Ibadatkhana at Fatehpur Sikri ?

(a) sirorra/Aurangzeb (b) wmEsEI/Shahjahan
(c) swrftvJahangir : (d) sTrervAkbar
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wet faehea =M (15 x 2 = 30 sis/Marks)

Choose the correct answer :
11. dRw fFaR T e €
Lactose is made up of which of the following ?
(a) T TE SERIE/Glucose + Lactose (b) T wE wEEE/Giucose + Fructose
(c) T Td T=/Glucose + Galactose  (d) T ¥ ¢ 7@1/None of these
12, =iferen fagia frem e 2
Cell theory was put forward by :
(a) fm/Singer (b) frFe=/Nicolson
(c) =Tew /Watson (d) =7 | =g 7=i/None of these
13. TorgE w1 fgEue fre # | frad € #2
Duplication of chromosomes occur during which of the following ?
(a) #2fga/Mitosis (b) Frfam/Meiosis
(c) #3frm wd fdifaa/Mitosis and Meiosis (d) =7 & =g 7Ei/None of these
14, W& ¥ fvm aifi ofgs @ s €2
How many amino acids are found in proteins ?
(a) 20 (b) 9
(c) 11 (d) =9 | =g 7Ei/None of these
15. amfEa oxe fras war @ % ol frn s 2 2
lodine Test is used to detect which of the following : :
(a) =dl/Fats : (b) =mEieEge/Carbohydrates
(c) wrEH/Proteins : = (d) s & =g 7ET/None of these
16. oTR-37TR foFed sar 2
Agar-Agar is produced from which of the following ?
(a) =0 =r¥/Green algae (b) = =é/Red algae
(c) ;U =¢/Brown algae (d) 3 & =i% 7Ei/None of these
17. Tomgn e s € 2
Enzymes are made of :
(a) =ETERSe/Carbohydrates (b) fafte /Lipids
(c) wrH/Proteins (d) =79 | =1g 7&T/None of these
18. wrfrafaw wfwan 4 v g =1 sevimo g d
Which of the following gases is absorbed during Photosynthesis ?
(a) swaIsF/Oxygen
(b) =rEA-TTE-3TaETES/Carbon-dioxide
(c) oAt wa weA-sTg-3ifaEEs/Both Oxygen & Carbon-dioxide
(d) = & =g TET/None of these



19. TerEEEtas gfwa § e & s e g g ?
In the process of Glycloysis, Glugose is converted into which of the following ?
(a) w®aE/Fructose (b) et sTe/Malic Acid
(c) urit/Water - (d) s st/Pyruvic Acid
20. IeF F EA | R AR ¥ 2

Heart of a frog has how many chambers ?

(@) wH/One ; (b) =/Two
(c) @ /Three (d) =r/Four

21. Wy Site faTd famtaa gu ¢
Mammals have evolved from which of the following :
(a) =Ugw/Reptiles (b) sw=vAmplibians
(c) w=fa=i/Fishes (d) 37 & =% 7E€/None of these
22, =+ % SU WA I F Fed € ¢ '
The outermost layer of the skin is called :
(a) =fFa/Dermis (b) wfrstfra/Epidermis
(c) =ReF/Cortex (d) =ggiwe/Cuticle

23. a%a 50 9T TR T wigel el Sm el § 2
Where is the Bile secreted by liver stored ?

(a) =wa/Liver (b) & sarevGall bladder
(c) ¥®sYLungs (d) 37 & =g TET/None of these

24, F=1 7 9§ e weteee 9ol stfie o s & 7
- Which of the following contains maximum carbohydrates ?

(a) =mEe/Rice (b) "%/ Wheat
(c) =E/Meat (d) 7 & =1 TEi/None of these

25. @A % uftaer H @i R w2
The circulation of blood was first discovered by which scientist ?

(@) =rfa/Darwin (b) wE/Harvey
(c) =mmh/Lamarck (d) ¥ ¥ =i 7E/None of these
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Choose the correct answer :
26. gsel steehied &1 K, Cr, O, % T sfiasishio e ot s/ fienm 2
On oxidation of Ethyl alcohol with K, Cr, O, what will be the product ?
(a) wfafew st=/Acetic Acid (b) = sT=/Formic Acid
(c) wriafesTse/Formaldehyde (d) 7 & % TET/None of these
27. WM F3 (RCO),0 Torersh wftafHfere e & -
General formula (RCO),0 represents :
(a) =H/Ketone (b) T=VEster
(c) $¥7/Ethane (d) ¥ ¥ =g 7Ei/None of these




28.

29

30.

31.

32.

33.

34.

35.

36.

37.

= H Q faoPies FA-W 7 _
Which of the following is an explosive ?
@@ TNT (b) TNB
(c) @Hi/Both ~ (d) T & =i Ei/None of these
=fx feelt et 3 He = 10 T Sr@rEl T At pH = € ?
If the H* concentration of any solution is increased by 10 times what is the effect on its pH ?
(a) % & =g /Increases by one (b) wE & =2/Decreases by one
(c) =1¢ weemE Ei/No change (d) =" & =1 7ei/None of these

Forey B TR A TS SAET feRe e St ® 2
Which of the following shows the maximum hydrogen bonding ?

(a) HO (b) H,Se
(c) HS (d) HF
@ g Tt R 2 5
Which is the correct gas equation ?
BT Pl 8% T
(a) V1 V2 {b) P2 V2 T2
V, V, ; 2 _
©) T BFa (d) = & =g 7€i/None of these

TSRS Se § 0 wEE e ® ?
Isotonic solutions have same :
(a) Hrer wwmayMolar concentration (b) wrenfE/Molarity
(c) =mifaEt/Normality (d) =7 @ =ig Ei/None of these
ﬁuﬁmaamaﬁﬁmm@ﬁmwﬁaﬁﬁmwwﬁ% ?
The branch of chemistry which deals with reaction rates and reaction mechanism is called :
(a) fagerao wra/Analytical Chemistry (b) TR seri/Chemical Kinetics
(c) =mif TarE/Thermo Chemistry (d) 3= & =g 7E{/None of these
frrpfier wfae = THERE W R e ?
What is the chemical name of Picric acid ?

@) 2, 4, 6 = T2, 4, 6 Trinitro Phenol (b) IamgrEre/ Trinitrotoluene
(c) ‘Tmm=el uffe/Trinito Aniline (d) =98 & =g 7€i/None of these

Tyma H Rt (TEERE) =7 T T ¥ fora T wfieet  SOEr B © 2
The reagent used detect sugar (glucose) in urine is called :
(a) 2re=d/Tollen's (b) S==i/Baeyer's
(c) si=r/Brady’s (d) wfe=r/Fehling's
fr ® | BE-w fagaEt 2
Which of the following is an insulator ?
(a) Trwge/Graphite (b) wegfafEE/Aluminium
(c) ¥R/Diamond (d) 374 & =g ei/None of these
Tct-66 forad aa @ ? _
Nylon-66 is made by using which of the following ?
(a) fwAre/Phenol (b) ufsfam ufas/Adipic Acid
(c) s==i/Benzene (d) = & =g Ei/None of these



38. f ¥ @ wiF-T TEEEeE € ?
Which of the following is an antibiotic?
(a) ufmfafas/Ampicilin (b) uferE/Asprin
(c) ==g/Calmpose (d) = ¥ =g 7El/None of these
30, Ted I A FA-WE 7
Which is the strongest acid among the following ?
(@) CH,COOH (b) CH,CH,COOH
(c) CH,CICOOH (d) CH,CICH,COOH
40. Fe,0, % Fe wi siffrancor s 1 & ?
What is the oxidation No. of Fe in Fe O, ?

(@ +2 (b) +3
8 o B
© 3 @ 3
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Part -1V
T
MATHEMATICS
aet faeed A :
Choose the correct answer : (10 x 2 = 20 7=/ Marks)

41, TTORR 5.326 1 UITE S B 2
The characteristic of logarithm of 5.326 is :

(@) 4 (b) 3
(c) O (d) == @ =g E1/None of these
42 Fdt st =1 9RETT 39 [, 1 AR TEw @ YOG 5 < 8 orgwa | ¥, A yysneli i e @0 w2
The perimeter of a rectangle is 39 cm. If the ratio of the lengths of two adjacent sideis 5: 8, find the lengths

of two sides :
(a) 5,8 (b) 7.5,12
(c) 8,40 (d) & & =rg 7E€T/None of these

43 cosec? 30 + sin? 45 + cos? 60 = /H I B ?
What is the value of cosec? 30 + sin? 45 + cos? 60 ?

] 2
@ 3 b &
(c) ]ZQ (d) 3 & =g F&i/None of these

44, Freht T =1 it Swe 616 cme ¥, @ = TR € ?
If the surface area of a sphere is 616 cm?, what will be the diameter of the sphere?
(@) 12cm (b) 14 cm
{(c) 22cm (d) & & =g &1/None of these
45, TEHFT 5X2 — 7X + 2 % A F B ?
What are values of roots of the equation 5x* = 7x + 2 7

@ 12 6 52
(©) E 2 (d) = @ =15 =&i/None of these

2



xz 2
7] yg Bﬂﬂﬁ?ﬁl‘[él‘ ?

46. aft 5x — 13y = 3x -8y, M

X* iyl
If 5x — 13y = 3x — 8y, what is the value of ?

%=y
13 29
@ 15 (b) 23
64 :
© o7 (d) ¥ & =g Ei/None of these

47. < f& o i@ F AB = AC si £ BAC = 40° &1 £ ADC + £ DAC =1 9T o711 €1 2
In the diagram given below if AB = AC and £ BAC = 40°, what is the value of £ ADC + £ DAC ?

A
D C o

(a) 55° (b) 65°

e} 18° (d) ¥ & =it 7€l/None of these
48. STHH 4, 9, 14, 19 U T THIA-F1 I 124 B2

Which term of the sequence 4, 9, 14, 19, ................... will be 1247
(a) 24 (b) 23
(c) 25

(d) ¥ & =g 7€i/None of these

2
49. Tf% Bz—g,ﬁSinemmws‘rm?

2
If o =-—33 _what is the value of Sin 8 ?

1
@ 7z (b) *Jg
(c) % (d) ¥ |/ =g sef/None of these |

) - A
(d) = & =g €T/None of these



